5.3.

(B - ri#)
1. din(seikanf); BUFFEZ&REH

obs 1034

R2C 0.60

HEETHARY  11991-2012

2015 EHTEREE

R tE
[din(seikand3) 0.794 48.079 [*+*

2. dintkumiaif); $&EZREH
obs 1034
R2C 0.06
HEETHARY |1991-2012

2015 EHTEREE
3 HiE
[din(kumiaid3) 0.484 8.302 [*x*

3. din(kokuhof); EREERIZH

obs 1034
R2C -0.10
HESTHARY 11991-2012

2015 EHTEEE
3 i
[din(kokuhoc) 0.289 16.189 [#k

4. din(kyosaifs); #FHE AR REEH

obs 1034
R2C -0.27
HEETEARY |1991-2012

2015 EHEHE
ER il
[din(kyosaifsd) 0.295 11.340 [#x*
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5. In(kaigof); MM ERIEH

obs 564
R2C 0.99
H#EETHARY  12001-2012
2015FEHTEHR
V5 8
Constant 1.510 6.517 |sxk LEE
1.104 5.232 |xkx EHE
1.123 5.400 [¥%k EFE
1.394 6.543 |¥x* =i
1.041 5.016 |s#k MEE
1.127 5.452 [¥kk iR
1.275 6.000 [#%k EER
1.476 6.864 |*x* RiBE
1.446 6.933 [¥xk AR
1.348 6.360 |*x* BEE
1.725 7.600 [*x* BEER
1.610 7.130 [sokk FER
2.358 9.712 [#x* HEH
1.782 7.617 [¥¥x #wWE)IE
1.273 5.785 [¥kk HBE
1.207 5.847 [¥¥x ELE
1.210 5.881 |#xk aNE
1.124 5.641 [¥¥x wBHE
1.120 5.670 [*%k I
1.283 5.916 |fxk RHR
1.382 6.514 |¥x* I E2 15
1.582 7.110 [k FRmE R
1.887 8.188 |*x* FHIE
1.299 6.134 [sokk =8R8
1.322 6.528 |*¥x* HEE
1.380 6.324 [¥xk RERATF
1.844 7.752 |¥x* KRAF
1.539 6.676 [¥¥k EER
1.183 5.786 |*x* Z=RIE
1.013 4.931 |H¥x IS
0.936 4771 |#*x EHRE
0.957 4.750 |¥¥x SiRE
1.269 5.895 |*x* fELE
1.402 6.332 [¥x* N=15
1.171 5.535 |kkk LAg
0.962 4.740 [*¥x me e
1.141 5.621 [*¥* EFE
1.108 5.229 [¥kk BIEE
0.932 4.611 |%kx =52
1.470 6.377 |¥x* 2R
1.052 5.239 [¥ik EBEE
1.098 5.181 [#x* Ei5E
1.144 5.309 [*¥x REARIE
1.078 5.195 [¥kk ADE
1.096 5.321 |k =I5E
1.068 4.957 [#*x EREE
1.100 5.367 [¥¥x Bk
|kaigodummy -0.087 —8.971 [k
In(kaigok) 0.802 43.780 [#ook
6. din(rmedkkk); BEEEEBT (ER-—H&, BEE. HE&HED)
obs 658
R2C 0.68
HEEHHART  [1999-2012
2015FEHERHTE
V5 8
[Ikoub 0.063 60.052 [k
[din(PRMKK4) 1.048 24079 [xx
7. din(rmedkk); BHEEFRBT M ERIZDEBWILEES)
obs 658
R2C 0.17
HEETHARY 11999-2012
2015 EHTEHE
R tE
[IkouD 0.003 1783 [*
[din(PRMKK4) 0772 11.637 [*x*
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8. din(rmedk); & ANREHT

obs 658
R2C 0.83
|#EETHARY  [1999-2012
2015 EHTHER
RE3 i
Constant -0.002 —2.228 |*¥x
din(PRMKXXX) 1.088 9.271 [dox i
1.193 9.450 [sox 58
1.065 8.220 [Hxx AFE
0.929 7.655 |*xk EHE
0.994 7.493 [sxx HEE
1.125 8.432 [sox Wiz 12
0.916 7.017 | BER
1.051 9.010 [*k RIWE
1.006 8.326 [Hxx HARE
1.024 8.507 [Hok BES
0.993 10.186 [Hxx BER
1.006 10.056 [*#x FEE
1.034 9.091 [Hox AR
0.974 9.619 |k #HE)IR
1.002 7.841 [Hxx wEE
1.215 9.843 |*xok BEWR
0.985 8.182 [sxx AR
1.118 8.888 [Hxx BHE
0.976 7.832 |Hxk WRE
1.051 8.305 |*xk RHR
1.027 8.574 [Hxx IS
0.979 8.364 [sxx FRER
1.060 9.817 [sox ZHE
1.009 8.244 |*xx ZER
1.005 8.756 [*xx BEE
0.945 8.202 [Hox SRR
0.957 8.978 [Hxx KBRAF
1.069 9.317 [Hok EER
0.963 8.538 [sxx ZpE
0.975 7.656 [Hox FAEAI: ]
1.129 8.717 |Hxk BmE
1.006 7.623 [Hoxx BRE
1.091 8.852 [sok [EITCY
1.047 8.812 |Hxk LS8R
1.200 9.427 [sxx [I=]=}
1.507 11.727 [Hox mEE
0.926 7.386 [Hox I8
1.154 9.035 [Hxx BIER
1.305 10.054 [**x SHE
1.197 10.131 [Horx EEE
1.286 9.986 [*x EBE
1.090 8.443 |*xx RIBE
1.243 9.738 [¥xx AR
1.101 8.675 [k xHE
1.208 9.615 | HiER
1.274 9.633 |*xk BERBR
1.289 11.059 [**x ShiEE
IKOUD -0.045 -5.007 [k dtimE
-0.046 -5.222 [#kk EHE
-0.041 —4.701 [xkx EFR
-0.037 -4.137 |#kk =R
-0.030 -3.507 [#kk HEE
-0.032 -3.718 [%kk Wiz 18
-0.028 -3.306 [#** [T
-0.043 -4.834 [Hkk KRR
-0.037 -4.181 |#kk HARE
-0.031 -3.526 |#kk BER
-0.054 —5.719 [xokx BER
-0.054 -5.720 [#kk FEE
-0.061 -6.673 |#kk HEE
-0.052 -5.516 |#kk ARG
-0.035 -4.104 [%** ZHBe
-0.045 -5.213 [#kk =g
-0.038 -4.366 |+kk Alg
-0.035 —4.108 [#kk BHE
-0.027 -3.159 [#k* ITETC]
-0.028 -3.230 [#kk EBE
-0.033 -3.715 |#kk I E S
-0.045 -4.994 |#kx BEE
-0.050 —5.446 [xkx ZHE
-0.035 -4.016 |#kk =58
-0.028 -3.187 |#kk HER
-0.033 —3.755 |#kk RADRT
-0.047 —5.114 [tk KBRAF
-0.040 -4.476 |Hkk EER
-0.035 -3.911 [#kk =pE
-0.027 -3.200 |##* F0FLE
-0.028 -3.295 [#kk BEE
-0.021 -2.519 [%* BRE
-0.037 -4.261 |#kk [EITCY
-0.037 -4.247 [xkx L5
-0.028 -3.289 [#kk ==}
-0.049 -5.693 [#kk mEE
-0.025 —2.909 [#k* ENNE
-0.036 -4.160 [xkx ZEE
-0.022 -2.607 [#kk SHE
-0.042 -4.749 |#kk fEmE
-0.037 -4.358 |#kk EBE
-0.041 -4.786 [xkx RigR
-0.036 -4.215 |#kk RS
-0.031 -3.667 |#kk AHE
-0.028 -3.238 [#kk BiER
-0.026 -3.130 [k ERER
-0.026 —2.987 [k SRR
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9. din(kaigok); TTiEFA1T

obs 564

R2C 0.69

HEEH AR 12001-2012

2015 EHERE

& tiE
[din(p65) 1.468 30.641 [#kx
din(nintei) 0.761 35.781 [**x
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(ZRYFA4E)

1. dinkonenf); BEEFEREH

obs 1034

R2C 0.53

HEETHARY  11991-2012

2015 EHERE
3 tiE

din(konenfd) 1.020 5.729 |*xx dtiEE
0.984 6.840 |fokok BEHE
1.111 7.211 |*x AEFE
0.731 5.531 |dok* EHE
0.881 5.993 |xxx MER
0.896 6.157 [**x Rz
0.945 6.541 [k EER
0.830 5.994 |%ok* RHE
0.784 5.470 |*** HAE
0.749 6.038 [skok HER
0.929 6.570 |Hk* BEE
1.139 6.507 |Hok* FEE
0.950 5.921 [sokx B
0.918 5.766 |fokk HENE
1.076 7.424 |x*x HiRE
0.945 6.568 |¥k* EWE
0.975 6.679 [**x RINE
1.025 6.078 [*** EHIE
1.042 6.537 |k Y
0.804 5.722 |k EHE
0.961 5.897 |*** I B 12
0.880 5.578 [k 12
0.886 6.364 |k EHE
0.896 6.461 |Hkk =58
0.911 6.236 |k HEE
0.802 5.402 |k STERRF
0.759 4.992 ¥k KIRAF
0.816 5.852 |kkk EER
1.076 7.038 |k =RE
0.912 5.888 |*** L E
0.872 5.959 [**x BRE
1.008 6.314 [xkk ERE
0.817 5.603 |k i 112
0.948 5.692 |**x LBE
1.061 6.378 [**x g
1.219 6.785 |k wEE
0.864 5.815 |k FIE
0.755 5.251 |k BRE
0.820 6.349 |k =8
1.028 6.818 [k EEE
0.962 6.891 |Hok* EER
0.939 5.966 |k &
1.025 6.849 [k REXE
1.170 7.148 [**x KXHR
0.905 6.435 |k =HiFE
1.055 6.956 |*k* EREE
1.500 10.369 |k Pliaki: 1o
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2. In(kokunenf); EIRF&REH

obs 1081
R2C 0.98
[HESTHEARS  [1990-2012
20155 EHTERE
&% tiE
Constant 2.559 4561 [Hokk E[#:3:]
1.922 3.631 |#xk AR
1.900 3.601 %k EFR
2.150 3.975 [#kk EHE
1.746 3.335 [#kk MEHE
1.825 3.479 [#%k I}
2.033 3.785 [#¥x =EER
2.383 4.361 |*xk RFE
2.083 3.876 |¥%x AR
2.181 4.060 [*x* HEE
2.847 5.021 [¥x* BEE
2775 4.926 ¥k FEE
3.322 5.718 |sxk AR
2921 5.105 |#%k )R
2.181 4.032 [H%x Hing
1.612 3.081 [#xx ZE
1.740 3.315 [#%k BIE
1.445 2.800 [¥x* BHE
1.654 3.195 sk WHRE
2.153 4.001 [#%k EEFER
2.199 4.087 %k 28
2506 4542 [¥xx EBEE
2.863 5.049 |sxk BHE
2.040 3.813 [xxk =ZER
1.722 3.262 [¥¥x HER
2.164 3.978 [Hkk REBRT
2.857 4.992 |#xk ABRAF
2559 4563 [¥x* EEE
1.796 3.392 [¥x* ZRE
1.756 3.367 [#xx LS
1.161 2.283 |** EmE
1.297 2529 | BiRR
1.828 3.411 [¥xx D
2.160 3.962 [¥xx LEE
1.726 3.259 |k wmneg
1.371 2.658 [H¥x BEER
1.531 2.940 [#xx FINE
1.844 3.485 |#xk ZiE2
1.412 2.742 [¥xx SEE
2447 4.384 [¥xx BEE
1.539 2.979 [Hxk EEE
1.812 3.424 [¥¥x RIBE
2.070 3.876 |#%* AR
1.523 2.903 [#kk B
1.666 3.183 [¥xx SR
1.806 3.392 sk EREE
1.548 2.938 sk Pkl
In(kokunen
+p2064) 0.350 15.277 %ok
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3. din(kyosaifl); H£FH & (REARE) RIEH

obs 1034
R2C 0.50
[est#ARY  [1091-2012
2015 FEEHTEHR
FH [ B
[din(kyosaild) 0700 [ 36,503 [Hoxx
4. din(konenk); EAEFEEIRT
obs 1034
R2C 0.29
H#EEHHARS  [1991-2012
015FEHTEHR
E3 tE
din(p65*konenro) 0.823 6.754 [#xx JeimE
0.978 7.641 [#*x EHE
0.999 7.700 |Hokx EFE
1.070 8.746 |*xk =S
0.881 6.708 |*x* PEE
0.926 6.602 ¥k R
0.932 6.881 |*xk =eE
1.161 9.064 |*x* RIRE
1.025 7.765 |Hokx HARE
1.005 7511 [#kx HEE
1.018 10.124 [**x BES
1.089 10.428 [#kx FEER
0.820 6.759 |*xk HEH
0.838 8.055 |*x* wE)E
0.924 6.510 |k FRE
0.898 6.207 |*xk =ILE
0.959 6.623 |k aINE
0.940 6.591 |*xx BHE
1.152 7.935 [#kx T
1.060 7.291 [k RHER
0.937 7.186 |#kx It B2 I
0.969 7.771 [#*x RS
0.878 7.628 |rkx ZME
0.982 7.360 [k =58
1.116 8.730 [k HER
0.930 6.753 |k SERRT
0.777 6.801 [#xx KERAF
0.826 6.326 [*ok EER
1.058 8.662 |*xx ZRE
0.853 5.840 [#x* PR
1.008 6.767 [#k BHWE
0.940 6.152 |Hx ERE
0.958 6.618 [+x* FE LR
0.877 6.247 [#ox LEER
0.837 5.653 [*x* wAag
0.880 6.279 [#xx BEER
0.947 6.439 [#ok FNR
0.799 5.521 |%xk ZREE
0.841 5.613 [#x* =yl
0.755 5.750 [#ook fERE R
0913 6.093 |Hx EER
0.662 4.580 [#x* RIBE
0.901 6.329 [k AR
0.993 6.921 [#k KRR
0.885 6.627 [#xx BEIFR
0.958 6.403 |*xk ERER
1.457 11.660 [**x BE
5. din(kokunenk); ERFES#HAT
obs 1034
R2C 0.54
H#EEHHARS [1991-2012
2015 FEEHTEHR
FH [ e
[din(p65*kokunenro) 1523 | 107.647 [¥**

6. din(kyosaik); HFME (RERIE) 4T
obs 1034
R2C 0.03
HEEHHARS [1991-2012

2015 FEEHTEHER
FH [ e
[din(p65*konenro) 0327  10.335 [%**
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